Passives: Exercise 1

Change from the active to the passive form

1) Paul will finish the book tomorrow.

2) John has invited them to the party.

3) Jane is helping her mother.

4) They had built the house twenty years earlier.

5) They are discovering more and more species every year.

6) He has installed some new equipment.

7) She receives hundreds of emails a week.

8) He founded the company thirty years ago.

9) They should create a new model.

10) At that time, we were exporting lots of products.




SEE ANSWERS OVERLEAF

Answers

The book will be finished (by Paul) tomorrow.

They have been invited to the party (by John).

Her mother is being helped (by Jane).

The house had been built twenty years earlier (by them).

Every year more and more species are being discovered (by them).
Some new equipment has been installed (by him)

Hundreds of emails are received every week (by her).

The company was founded thirty years ago (by him).

A new model should be created (by them).

10 At that time lots of products were being exported (by us).
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